
Lattice multiplication with two- and three-digit numbers (2x3)

Solutions are on page 2
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802 x 82 = 65,764
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385 x 40 = 140 x 13 = 

(4) (5) (6)
534 x 60 = 916 x 72 = 506 x 91 = 

(7) (8) (9)
584 x 26 = 462 x 55 = 468 x 79 = 

(10) (11) (12)
669 x 40 = 858 x 79 = 150 x 10 = 
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Lattice multiplication with two- and three-digit numbers (2x3)

Also see the Worksheets and Walkthroughs video: 'Multiplication--The Lattice Method'

(1) (2) (3)

802 x 82 = 65,764
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385 x 40 = 15,400

1
2

+0
3

2
+0

2
0

+0

0
0

0
0

0
0

3      8      5

4

0

1

5
4 0 0

140 x 13 = 1,820
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534 x 60 = 32,040
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916 x 72 = 65,952
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506 x 91 = 46,046
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584 x 26 = 15,184
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462 x 55 = 25,410
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468 x 79 = 36,972
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(10) (11) (12)

669 x 40 = 26,760

2
4

+0
2

4
+0

3
6

+0

0
0

0
0

0
0

6      6      9

4

0

2

6
7 6 0

858 x 79 = 67,782
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150 x 10 = 1,500
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